Pre-Calculus - Honors

Homework #47 Answers

From Houghton-Mifflin 3" Edition
p330:
1) y = 3 sin 2x
., amplitude = 3, period = 2n/2 = =
2) y = 2 cos 3x
amplitude = 2, period = 2n/3
3) y = (6/2) cos (x/2)
amplitude = 5/2, period = (2n)/(1/2) = 4n
4) y = -3 sin (x/3)
amplitude = 3, period = (2n)/(1/3) = 6x
5) y = (2/3) sin nx
amplitude = 2/3, period = 2n/2 = n
6) y = (3/2) cos (nx)/2
amplitude = 3/2, period = (2n)/(n/2) = 4
30) f(x) = 2 cos 2x amplitude = 2, period = =

g(x) = -cos 4x amplitude = 1, period = =/2
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